
  


















 



   




  



      

Ⅰ 正負の数



 

例題１　符号のついた数

 

 





   



       



  



答      




 

 

例題２　整数
 

   



  







   



      

       

    

    

      

      

   

     

 

  

例題３　正の数・負の数で量を表すこと

 

         

例題４　数直線





 



答                   

 





  




  



          






   

           

  



例題５　絶対値

  

 

 

 

 

      

 



 

 

 

  




  

                

例題６　数の大小

 

     

     



答    


           

       












    



  





       

      

    

    

    

    

    



           

       



    

       



    





 

         

      

 

  



 

 

        

        

              

              

    



 

    

      

    

練習問題  



 

  

    

       

   

   

 

   

    

 

  



  

 

  




 



 





  

  

  

 

      

      




















 






 

          

 







 













  






        

確認問題

答        



          

          

            

                  

                   

例題２　正の数の加法，減法





例題１　数直線上での加法，減法

   

 

       

       

   



      

      

答

           

 

 

                 



           

 

 

例題３　負の数の加法，減法

                  

                 

      





  

  

  

  

例題４　正の数・負の数の加法，減法の解法テクニック

                  

                 

                 

答

           

 

 

           

 

        

   

   



1練習問題  

        

                 

               

                   

                 

        

        

              

              

        

       

              

        

                  

                  

                 

                  

                   

                    

        

        





 

   



 



























      



  



           

 

     

  

例題１　（　　）を省いた加法，減法

   

   

   

   

答           




                 

                 

           



 




   




 







      

   

  

 

  

 

 

 

例題２　3つ以上の数の加法，減法①

答

  



  



  





      

   







  







 
























































  

    

        


      

 
















      

   

  



例題４　正負の数の利用―加法・減法―

 



          

 

 





      









例題３　3つ以上の数の加法，減法②

   








 















































                  



 




 





   

      

    

   

  

  

 



    

     

  

答         


         

   

       

    



    



練習問題  

                 

                  

                  

                    

                  

                 

                    

                    

                  

                    

                    

                    

                    

                     

                    

   



 




    




 



    



 





   



 




   




 



    



 





   



 




   




 



    



 





          

          

        

          

        

 













  














  















 













  














   

















      





                       

                     

                               

                        

                         

                

   



 




 




    









 



  



 




 





 



 




 



    



 




 



    



 




 





確認問題



 

 

        



  

   

   

   

  

      

      

   

         

答      

 

 





     

  



例題１　２数の乗法
   










 










答





 



  

 
    

    

 
    

    

  

   

  



        




               

              



 





 
  





 



 

 

 





       



      

   



例題２　３つ以上の数の乗法

               

       








 

答

 



 










 














     




 

例題３　累乗と指数

 

            



 


 

       



 





    
 

       





   
    

      



 

         

                      

 


     

 
     

       
 

練習問題  

                 

             

                 

                

                 

                 

                 

                  

                  

                  

    



   








    



 





 



      




 



    



 





                  

                     

                     

                        

                   

                  

                     



確認問題

答

 



 




    




 




 




    




 





   



 




 




 




 




 




 










              

                          

 






















    



 




 






           
      

       
 

       
           

    
    

 

          
     

   

      
    

             
 

 


 


   
   



 




          

 

  

 

   

 

 

 

   
   

  

  
      





答

    

  



    

  



      

  



例題１　２数の除法



 

 



 

  

 

 

    

    

    

    

  

        

 

            

            

   

           

   

例題２　逆数

 




  

 




  






 


   


  






    


  


      


   




   




 




 






  


  


      

答

例題３　正負の数の除法　－逆数の利用－


 

   



  

 



 





 










   



 





 



 





 










 



       



      

      



 



    



 







 



 



         








 



       
 

    



     




   



 



 



 



   



例題４　乗除混合計算

    

 



  

 







  

   



  

 



  

 



 





 










    







































 













  


 







答      


   






練習問題  

                    

                  

                  

               

                

                  

                  

               

 

                  

                    

 


   



   



   

           

                

                 

   



    




    




  

    


    



     





   



     




    





   



 



    







  



 





   



 




 




 




 




 





   



 




   








    



 







         

                    

                       

   








 




   








      









   













 




 









   









 





  
     

        
   

   
               

     

     
                  

   

  
   




    




 

      








   

  


 








  









 
   



 



 










 







 








 








 







  







 







 




    







  



    



    



   

 


 



 



    







 



  

     




  



 

   
    

  



   



 





確認問題

答

 

     

     

     

    

 



 



 



                    
   

  
       

  



    








 




     

    

  

  



    

 





    

  



答

例題１　四則混合

  

  

  

 




























        
 

   

  

  





              





    





 



  


 


            

    

    

    





  


 




















 



 

例題２　分配法則と計算の工夫

答







 



  



 





      

      

  

   





        

 









  

   





   



 



   

 

   

 

 

例題３　数の集合と四則

答

     

    

      

例題４　正負の数の利用　－四則混合－
 

 



  





   




 



    

       



                

                       

                 

                   

                      

    
          

 

         
         

   
            

   

          
             

   
        

           
     

  


 








 








     



 





   
  




   

  








  




 








 



 





 







 



    

  



 

      







 









  


   



     

    


 



   

  


 


   


     


 









              

             

練習問題  





  

 



   

  

     

        



                    

 













         














 




 





                   

        



 




   




 





                

           

















    



 




 





 










 










     

        

    

    

  

   

Ⅰ  正負の数　復習問題

 

        



 





 

     



  




  





                

        



   




 





                       

         



   




   




 














   

    

    

        

      

     

  

   



     

  



           

   

  




        

           
      

        
 

   
     

  


 



   

   

                      

  



 



   


   


  



 








 



 





 


 



 





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